
(問題９２) 

𝑥に関する次の不等式を解け。 

1

𝑥 + 𝑎
+

2𝑎

𝑥 − 𝑎
>

𝑥2 + 𝑥 − 𝑎

𝑥2 − 𝑎2
 

(解答) 

1

𝑥 + 𝑎
+

2𝑎

𝑥 − 𝑎
−

𝑥2 + 𝑥 − 𝑎

𝑥2 − 𝑎2
> 0 

𝑥 − 𝑎 + 2𝑎(𝑥 + 𝑎) − 𝑥2 − 𝑥 + 𝑎

(𝑥 − 𝑎)(𝑥 + 𝑎)
> 0 

2𝑎(𝑥 + 𝑎) − 𝑥2

(𝑥 − 𝑎)(𝑥 + 𝑎)
> 0 

𝑥2 − 2𝑎𝑥 − 2𝑎2

(𝑥 − 𝑎)(𝑥 + 𝑎)
< 0 

{𝑥 − (1 + √3)𝑎}{𝑥 − (1 − √3)𝑎}

(𝑥 − 𝑎)(𝑥 + 𝑎)
< 0 

(ⅰ)𝑎 > 0のとき 

－𝑎 < (1 − √3)𝑎 < 𝑎 < (1 + √3)𝑎 

                              −𝑎           (1 − √3)𝑎      𝑎       (1 + √3)𝑎 

                                                                      

{𝑥 − (1 + √3)𝑎}  −        −                        −       −                   + 

(𝑥 − 𝑎)           −         −                    −        +                   + 

      {𝑥 − (1 − √3)𝑎}           −         −                        +        +                   + 

(𝑥 + 𝑎)             −        +                    +        +                   + 

−𝒂 < 𝒙 < (𝟏 − √𝟑)𝒂     , 𝒂 < 𝒙 < (𝟏 + √𝟑)𝒂 

 

 

 

 

 

 

𝑥 



(ⅱ)𝑎 < 0のとき 

                                 (1 + √3)𝑎           𝑎                 (1 − √3)𝑎                − 𝑎 

                                                                              

           (𝑥 + 𝑎)                  −                  −                     −                   −                  + 

{𝑥 − (1 − √3)𝑎}            −                  −                     −            +                  + 

          (𝑥 − 𝑎)              −               −                     +               +                  + 

                    {𝑥 − (1 + √3)𝑎}          −           +                     +            +                  + 

(𝟏 + √𝟑)𝒂 < 𝒙 < 𝒂, (𝟏 − √𝟑)𝒂 < 𝒙 < −𝒂 

 

 

(答え) 𝒂 > 𝟎のとき 

−𝒂 < 𝒙 < (𝟏 − √𝟑)𝒂     , 𝒂 < 𝒙 < (𝟏 + √𝟑) 

   𝒂 < 𝟎のとき 

(𝟏 + √𝟑)𝒂 < 𝒙 < 𝒂, (𝟏 − √𝟑)𝒂 < 𝒙 < −𝒂 

 

 

𝑥 


